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1M113[FEFEAS  |diEE 440 4400 0 4400 10 0 0 0 1728 0 648
[ED) 445 4450 0 4450

1141[E1R mE 49 98 0 98 2 0 0 0 2,160 0 1,296

mE 7 35 0 35 5 0 0 0 1080 0 864
(&) 56 133 0 133

1201[8% E% 267 4,005 0 4,005 15 0 0 0 2,268 0 108
(&) 267 4,005 0 4,005

1203| F v Y HE 139 1390 0 1390 10 0 0 0 1,728 0 1,566

BE 191 2,865 0 2,865 15 0 0 0 1,145 0 1,134

% 113 1130 0 1130 10 0 0 0 1,296 0 972
(&) 443 5385 0 5385

1209| 8% B 5 15 0 15 3 0 0 0 0 1458 0
(G 5 15 0 15

1301 [fF £EE 2 9 9 0 4.4 0 626 0 0 0 0

=R 30 150 0 150 5 0 0 0 3348 0 2808

=) 20 6 0 6 0.3 0 0 0 0 194 0

EE 120 60 0 60 0.5 0 0 0 227 0 194

ms 24 96 0 96 4 0 0 0 2376 0 1944

EE 117 585 0 585 5 0 0 0 3240 0 1620
GH 316 918 9 909

1311[k=k Ik B 60 240 0 240 4 0 0 0 2,052 0 1,728
[&D) 178 490 0 490

1321 |#AM ZiE 51 255 0 255 5 0 0 0 2808 0 1620
[&D) 52 260 5 255

1351[F—<> | EE 840 126 0 126 0.15 0 0 0 113 0 108
(&h 930 140 0 140
1353[L Tk (G 7 7 0 7

1355|495 BEREE 400 40 0 40 0.1 0 0 0 0 86 0
(D 900 90 0 90

1371[L1> X 60 180 0 180 3 0 0 0 1512 0 1296
GH 60 180 0 180
1411 (= (&h) 80 32 32 0

1501 [HE& mE 88 440 0 440 5 0 0 0 1728 0 1080
[ED) 88 440 0 440

1513|A—=94> |dtiEE 475 4750 0 4750 10 0 0 0 3456 0 1728
GH 475 4750 0 4750

1521(BX¥ = 5 11 55 0 55 5 0 0 0 3240 0 2700
GH 11 55 0 55

1541 E& EE 45 450 0 450 10 0 0 0 1620 0 864
[ED) 46 470 0 470

1603[+JLY — =& 5 50 0 50 10 0 0 0 4320 0 3240
[ED) 5 50 0 50

1609|70val)  [dtiE 60 480 0 480 8 0 0 0 3888 0 3456
[GD) 60 480 0 480

1611|LAR =& 10 50 0 50 5 0 0 0 1,944 0 1,620

£ 30 300 0 300 10 0 0 0 2160 0 1296
G 40 350 0 350
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(&h 20 100 0 100
1627|S=F<k GD 150 30 0 30
1705| 4= =& 900 72 0 72 0.08 0 0 0 0 56 0
(&) 1054 100 0 100
1803| EME (EhH 1,290 138 0 138
1807[8 E E% 100 10 0 10 0.1 0 0 0 0 35 0
£ 750 150 0 150 0.2 0 0 0 59 0 54
(&) 850 160 0 160
1809|L&HL £H 200 20 0 20 0.1 0 0 0 0 35 0
% 1,380 276 0 276 0.2 0 0 0 70 0 43
[&D) 1,580 296 0 296
* S FEET * 16417 46411 55 46357
2303[5Ek [&D) 5 50 0 50
2331|—+#Hi |BE 6 30 0 30 5 0 0 0 0 5940 0
[&D) 6 30 0 30
2511[#k E®H 1 1 0 1 1 0 0 0 0 4,860 0
GD i 1 0 !
2609| B IiE] 9 45 0 45 5 0 0 0 0 8208 0
[&D) 9 45 0 45
2611|EA—3  [ILE 60 24 0 24 0.4 0 0 0 0 594 0
[&D) 60 24 0 24
2616[S<AH+  [ILEY 40 28 0 28 0.7 0 0 0 2808 0 1620
[if] 111 30 60 0 60 2 0 0 0 5940 0 4320
(D 70 88 0 88
2701|7—ILR _ |EHE 4 36 0 36 9 0 0 0 0 14,040 0
(D 4 36 0 36
2721[A0> e 2 16 0 16 8 0 0 0 0 6480 0
(D 51 271 0 271
2731[AI T2 646 9690 0 9690 15 0 0 0 6048 0 2592
(D 646 9690 0 9690
2821 | \EEER E[E 1152 576 0 576 05 0 0 0 486 0 432
(D 1152 576 0 576
* S ¥EET 3954 21,317 0 21,317
2741 |/NEF T (h 1 10 0 10
2821 | \EER E[E 480 240 0 240 05 0 0 0 0 486 0
(D 480 240 0 240
* D FEET * 2,531 7,626 0 7,626




